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1/2/2 SP5 5 Zty 2 x YAKY 4x35 LED brak

1/2/5/2 SP5 5 Zty 1 x YAKY 4x35 LED brak

1/2/12 SP5 5 Zty 2 x YAKY 4x35 LED brak

1/3/9 SP5 5 Zty 2 x YAKY 4x35 LED brak

2/1/2/2 SP5 Zty 1 x YAKY 4x35 LED brak

2/1/7/2 Stalowy 7 Zty 1 x YAKY 4x35 LED brak

3/2/3/3 Stalowy 5 Zty 1 x YAKY 4x35 LED brak

3/2/6 SP5 5 Zty 2 x YAKY 4x35 LED brak

3/2/13 SP5 4 Zty 2 x YAKY 4x35 LED brak

3/2/15 SP5 5 Zty 1 x YAKY 4x35 LED brak

2 x YAKY 4x35+1 x

23/1/1 Pastorat Zty YKY 5x10 LED brak
12/1/4/2 SP5 5 Zty 1 x YAKY 4x35 ocpP 70 34
12/1/8 SP5 5 Zty 2 x YAKY 4x35 ocpP |70 34
12/1/8/1 SP5 5 Zty 2 x YAKY 4x35 ocp 70 34
12/1/8/2 SP5 5 Zty 2 x YAKY 4x35 ocpP |70 34
12/2/1/7 SP5 5 Zty 2 x YAKY 4x35 ocpP 70 34
12/2/1/8 SP5 5 Zty 2 x YAKY 4x35 ocpP |70 34
12/2/1/9 SP5 5 Zty 2 x YAKY 4x35 ocCpP 70 34

12/2/1/10 SP5 5 Zty 2 x YAKY 4x35 LED brak

12/2/1/11 SP5 5 Zty 2 x YAKY 4x35 LED brak
12/2/1/12 SP5 5 Zty 1 x YAKY 4x35 ocpP |70 34
12/2/7/22 SP5 5 Zty 2 x YAKY 4x35 ocpP 70 34
12/2/7/23 SP5 5 Zty 2 x YAKY 4x35 ocpP |70 34
13/1/2/1 SP5 5 Zty 2 x YAKY 4x35 ocCpP 70 34
13/1/2/2 SP5 5 Zty 2 x YAKY 4x35 ocp |70 34
13/1/2/4 SP5 5 Zty 1 x YAKY 4x35 ocCpP 70 34
13/1/3/2 SP5 5 Zty 2 x YAKY 4x35 ocp |70 34
13/1/3/3 SP5 5 Zty 1 x YAKY 4x35 ocpP 70 34
13/2/2 SP5 Zty 1 x YAKY 4x35 ocp |70 34
14/1/7/1 Stalowy 5 Zty 2 x YKY 5x6 Kula |70 34
14/1/10 Stalowy 4 Zty 2 x YKY 5x6 Kula |70 34
15/1/3/9 SP5 4 Zty 2 x YAKY 4x35 ocpP 70 34
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2 x YAKY 4x35
1/1/1 SP5 5 Zty +YKY 3x6 OZPR |70 34
1/1/2 SP5 5 Zty 2 x YAKY 4x35 OZPR |70 34
1/1/3 SP5 5 Zty 2 x YAKY 4x35 OZPR |70 34
1/1/5 SP5 5 Zty 2 x YAKY 4x35 OZPR |70 34
1/1/6 SP5 5 Zty 2 x YAKY 4x35 ocp 70 34
1/1/7 SP5 5 Zty 2 x YAKY 4x35 ocpP |70 34
1/1/11 SP5 5 Zty 2 x YAKY 4x35 ocp 70 34
1/1/13 SP5 5 Zty 2 x YAKY 4x35 OZPR |70 34
1/1/14 Stalowy 5 Zty 2 x YAKY 4x35 OoCcpP |70 34
1/2/1/4 Stalowy 5 Zty 1 x YAKY 4x25 OoCP |70 34
1/2/2/1 SP5 5 Zty 2 x YAKY 4x35 ocp |70 34
1/2/2/2 SP5 5 Zty 2 x YAKY 4x35 OZPR |70 34
1/2/3 SP5 5 Zty 3 x YAKY 4x35 ocpP |70 34
1/2/4/2 SP5 4 Zty 2 x YAKY 4x25 ocp 70 34
1/2/5 SP5 Zty 1 x YAKY 4x35 ocpP |70 34
1/2/5/1 SP5 4 Zty 1 x YAKY 4x35 OZPR |70 34
1/2/6/2 SP5 4 Zty 1 x YAKY 4x25 ocpP |70 34
1/2/6/3 SP5 5 Zty 2 x YAKY 4x35 ocCpP 70 34
1/2/6/5 SP5 5 Zty 2 x YAKY 4x35 ocpP |70 34
1/2/6/7 SP5 Zty 1 x YAKY 4x35 OZPR |70 34
1/2/9 SP5 4 Zty 2 x YAKY 4x35 ocpP |70 34
1/3/3 SP5 5 Zty 2 x YAKY 4x35 ocCpP 70 34
1/3/8/1 Stalowy 9 Zty 1 x YKY 4x10 2 x OUS [100 60
1/3/10 SP5 5 Zty 2 x YAKY 4x35 ocp |70 34
2/1/2/4 SP5 4 Zty 2 x YAKY 4x35 ocCpP 70 34
2/1/2/5 SP5 4 Zty 1 x YAKY 4x35 OZPR |70 34
2/1/2/8 SP5 7 Zty 1 x YAKY 4x35 ocpP 70 34
2/2/1 Stalowy 4 Zty 2 x YAKY 4x35 OZPR |70 34
2/2/2/1 Stalowy 4 Zty 1 x YAKY 4x35 OZPR (70 34
2 x YAKY 4x35 1 x
2/2/5 SP5 5 Zty YKY 5x25 ocCp 70 34
2/2/6 Stalowy 4 Zty 2 x YAKY 4x35 ocpP |70 34
2 x YAKY 4x35+1 x
2/2/8 Pastorat ? Zty YKY 5x10 OZPR |70 34
1 x YKY 5x10 1 x
2/2/11 Stalowy 8 Zty YKY 5x35 2 x0US |100 60
3/1/1/1 Stalowy 5 Zty 1 x YAKY 4x35 OCP |70 34
3/1/1/2 Stalowy 4 Zty 2 x YAKY 4x35 ocp |70 34
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1 x YAKY 4x351 x
3/1/1/4 Stalowy 4 Zty YKY 5x25 3x0US (70 34
3/1/2 Stalowy 5 Zty 2 x YAKY 4x35 OCP |70 34
3/1/3 Stalowy 5 Zty 2 x YAKY 4x35 OCP |70 34
3/1/3/1 Stalowy 5 Zty 2 x YAKY 4x35 OCP |70 34
3/1/5/1 Stalowy 4 Zty 2 x YAKY 4x35 OCP |70 34
3/1/7 Stalowy 4 Zty 2 x YAKY 4x35 ocpP |70 34
3/1/8 SP5 5 Zty 2 x YAKY 4x35 ocp 70 34
3/1/8/2 SP5 5 Zty 1 x YAKY 4x35 ocp |70 34
3/1/9 SP5 5 Zty 2 x YAKY 4x35 ocp 70 34
3/1/9/1 SP5 5 Zty 2 x YAKY 4x35 ocpP |70 34
3/1/9/3 Stalowy Zty 2 x YAKY 4x35 ocpP |70 34
3/1/9/5 Pastorat Zty 2 x YAKY 4x35 OCP |70 34
3/1/10/2 Stalowy 4 Zty 2 x YAKY 4x35 OCP |70 34
3/1/10/3 Stalowy 4 Zty 2 x YAKY 4x35 ocpP |70 34
3/1/10/4 SP5 5 Zty 1 x YAKY 4x35 ocp 70 34
3/1/12/1 SP5 4 Zty 2 x YAKY 4x35 ocpP |70 34
3/1/13/2 SP5 4 Zty 1 x YAKY 4x35 ocCpP 70 34
3/1/16 SP5 5 Zty 2 x YAKY 4x35 ocpP |70 34
3/1/17 SP5 5 Zty 3 x YAKY 4x35 ocCpP 70 34
3/1/17/1 SP5 5 Zty 2 x YAKY 4x35 ocp |70 34
3/1/17/3 Stalowy 5 Zty 1 x YAKY 4x35 ocpP |70 34
3/1/18 Stalowy 5 Zty 3 x YAKY 4x35 OCP |70 34
3/2/2/2 SP5 4 Zty 1 x YAKY 4x35 OZPR |70 34
3/2/3/1 Stalowy 4 Zty 3 x YAKY 4x35 OCP |70 34
3/2/3/5 Stalowy 5 Zty 1 x YAKY 4x35 ocpP |70 34
3/2/3/6 Stalowy 5 Zty 1 x YAKY 4x35 OCP |70 34
3/2/4 SP5 5 Zty 3 x YAKY 4x35 OZPR |70 34
2 x YAKY 4x351 x
3/2/5/1 SP5 5 Zty YKY 5x10 OZPR |70 34
2 x YAKY 4x35 + 1x
3/2/7 Stalowy 4 Zty YKY 5x10 ocp |70 34
3/2/9 SP5 4 Zty 1 x YAKY 4x35 OZPR |70 34
3/2/10 SP5 4 Zty 3 x YAKY 4x35 OZPR |70 34
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4/1/7 SP5 5 Zty 2 x YAKY 4x35 ocp |70 34
4/1/8 SP5 5 Zty 2 x YAKY 4x35 OZPR |70 34
1 x YAKY 4x35+1 x
4/1/9 SP5 5 Zty YKY 5x16 OZPR |70 34
1 x YAKY 4x35 +1
4/1/10 SP5 5 Zty x YAKY 4x16 ocp 70 34
4/1/12 SP5 4 Zty 2 x YAKY 4x35 ocpP |70 34
4/1/13 SP5 4 Zty 2 x YAKY 4x35 ocp 70 34
4/1/14 SP5 4 Zty 2 x YAKY 4x35 ocpP |70 34
4/2/1 SP5 5 Zty 2 x YAKY 4x35 OZPR |70 34
4/2/2 SP5 5 Zty 3 x YAKY 4x35 OZPR |70 34
4/2/2/2 Stalowy 4 Zty 2 x YAKY 4x35 OoCP |70 34
4/2/3/1 SP5 5 Zty 2 x YAKY 4x35 OZPR |70 34
4/2/3/2 SP5 5 Zty 1 x YAKY 4x35 OZPR |70 34
2 x YAKY 4x35+1 x
4/2/4 SP5 5 Zty YKY 5x25 OZPR |70 34
5/1/1 SP5 5 Zty 2 x YAKY 4x35 ocpP |70 34
5/1/2 SP5 5 Zty 2 x YAKY 4x35 ocpP 70 34
5/1/3 SP5 5 Zty 2 x YAKY 4x35 OZPR |70 34
5/1/4 SP5 5 Zty 2 x YAKY 4x35 OZPR |70 34
5/1/5 SP5 5 Zty 2 x YAKY 4x35 OZPR |70 34
1 x YAKY 4x35+1 x
5/1/6 SP5 5 Zty YKY 5x25 OZPR |70 34
5/4/1 SP5 5 Zty 2 x YAKY 4x35 OZPR |70 34
5/4/1/1 SP5 5 Zty 2 x YAKY 4x35 ocpP |70 34
5/4/1/2 SP5 5 Zty 2 x YAKY 4x35 OZPR |70 34
5/4/1/3 SP5 5 Zty 1 x YAKY 4x35 ocp |70 34
6/1/1 SP5 4 Zty 2 x YAKY 4x35 ocCpP 70 34
6/1/3 SP5 5 Zty 2 x YAKY 4x35 OZPR |70 34
6/1/5 SP5 Zty 1 x YAKY 4x35 OZPR |70 34
6/2/1 SP5 5 Zty 2 x YAKY 4x35 OZPR |70 34
6/2/3 SP5 4 Zty 2 x YAKY 4x35 ocpP 70 34
6/2/4 SP5 5 Zty 2 x YAKY 4x35 OZPR |70 34
6/2/6 SP5 5 Zty 2 x YAKY 4x35 ocCpP 70 34
2 x YAKY 4x35+1 x
6/2/7 SP5 4 Zty YKY 5x25 OZPR |70 34
6/2/7/1 SP5 5 Zty 2 x YAKY 4x35 OZPR |70 34
6/2/7 /2 SP5 4 Zty 2 x YAKY 4x35 OZPR |70 34
6/2/7 /3 SP5 4 Zty 2 x YAKY 4x35 OZPR |70 34
6/2/7 /4 SP5 4 Zty 2 x YAKY 4x35 OZPR |70 34
10/1/5/1 SP5 5 LY ous (70 34
24/1/3/1 Stalowy 5 Zty 2 x YKY 5x10 OoCP |70 34
24/1/3/2 Stalowy 5 Zty 2 x YKY 5x10 ocp |70 34
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24/1/3/3 Stalowy 5 Zty 2 x YKY 5x10 ocp |70 34
24/1/3/8 Stalowy 5 Zty 2 x YKY 5x10 OoCP |70 34
24/2/6 Stalowy Zty 3 x YKY 5x10 ocp |70 34
12/1/1 SP5 5 Zty 2 x YAKY 4x35 ocCP 70 34
12/1/2 SP5 4 Zty 2 x YAKY 4x35 ocpP |70 34
12/1/3/4 SP5 4 Zty 2 x YAKY 4x35 ocCP 70 34
12/1/3/6 SP5 4 Zty 2 x YAKY 4x35 ocpP |70 34
12/1/3/14 Stalowy 4 Zty 2 x YAKY 4x35 OoCP |70 34
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1/1/1/1 Stalowy 5 Dobry |1 x YKY 3x6 OCP |70 34
1/1/4 Stalowy 5 Dobry |2 x YAKY 4x35 OCP |70 34
1/1/8 Stalowy 4 Dobry |2 x YAKY 4x35 OoCP |70 34
1/1/8/1 Stalowy 4 Sredni |1 x YAKY 4x35 OoCP |70 34
1/1/9 Stalowy 4 Sredni |2 x YAKY 4x35 OCP |70 34
1/1/10 Pastorat 4 Sredni |2 x YAKY 4x35 OCP |70 34
1/1/10/1 Stalowy 4 Dobry |2 x YAKY 4x25 OoCP |70 34
1/1/10/2 Stalowy 5 Dobry 1 x YAKY 4x25 ocp |70 34
1/1/12 Stalowy 4 Dobry |2 x YAKY 4x35 OoCP |70 34
1/1/15 Stalowy 5 Sredni |2 x YAKY 4x35 OCP |70 34
1/2/1 Stalowy 4 Dobry |3 x YAKY 4x25 OoCP |70 34
1/2/1/1 Stalowy 5 Dobry |1 x YAKY 4x25 ous (70 34
1/2/1/2 Stalowy 5 Dobry |2 x YAKY 4x25 ous |70 34
1/2/1/3 Stalowy 5 Dobry |2 x YAKY 4x25 ous (70 34
1/2/1/5 W<Z 5 Dobry 3 x YAKY 4x35 ous 150 104
1/2/1/7 WZ 5 Sredni |2 x YAKY 4x35 ous (400 150
1/2/1/8 W<Z 5 Sredni 2 x YAKY 4x35 ous (400 150
1/2/1/9 WZ 5 Sredni |2 x YAKY 4x35 ous (400 150
1/2/1/10 W<Z 4 Dobry 2 x YAKY 4x35 ous (400 150
1/2/1/11 WZ 4 Dobry 1 x YAKY 4x35 ous (400 150
1/2/4 Stalowy 5 Dobry |2 x YAKY 4x35 OCP |70 34
1/2/4/1 Stalowy 4 Dobry |2 x YAKY 4x25 OoCP |70 34
1/2/4/3 Stalowy 5 Dobry |2 x YAKY 4x25 OCP |70 34
1/2/4/4 Stalowy 4 Sredni |1 x YAKY 4x25 OoCP |70 34
1/2/5/3 Stalowy 5 Dobry |2 x YAKY 4x35 OCP |70 34
1/2/6/1 Stalowy 4 Dobry |1 x YKY 4x6 ous (70 34
1/2/6/4 Stalowy 5 Dobry |2 x YAKY 4x35 OCP |70 34
1/2/6/6 Stalowy 5 Dobry |3 x YAKY 4x35 3 x OUS (100 60
1/2/7 Stalowy 4 Dobry |1 x YAKY 4x25 OCP |70 34
1/2/8/1 Stalowy 4 Dobry |1 x YAKY 4x25 OCP |70 34
1/2/10 Stalowy 5 Dobry |2 x YAKY 4x35 OCP |70 34
1/3/1 Stalowy 3 Dobry |1 x YKY 5x6 Oous [100 60
1/3/2 Stalowy 4 Dobry |2 x YAKY 4x35 OoCP |70 34
1/3/2/1 Stalowy 5 Dobry |1 x YKY 4x10 2 x 0US [100 60
1/3/4 Stalowy 4 Sredni |2 x YAKY 4x35 OoCP |70 34
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1/3/5 Stalowy 5 Dobry |2 x YAKY 4x35 OCP |70 34
1/3/6 Stalowy 4 Dobry |2 x YAKY 4x35 OCP |70 34
1/3/7 Stalowy 5 Dobry |2 x YAKY 4x35 OCP |70 34
1/3/7/1 Stalowy 4 Dobry |1 x YKY 3x4 OoCP |70 34
1/3/8 Stalowy 4 Dobry |2 x YAKY 4x35 OoCP |70 34
1/3/10/1 Stalowy 9 Dobry |2 x YAKY 4x35 2 x 0US [100 60
1/3/10/2 Stalowy 6 Dobry |2 x YKY 5x10 2 x OUS [100 60
1/3/10/3 Stalowy 6 Dobry |1 x YKY 5x10 2 x 0US [100 60
1/3/11 Stalowy 4 Dobry |2 x YAKY 4x35 OCP |70 34
1/3/12 Stalowy 4 Dobry |2 x YAKY 4x35 OoCP |70 34
1/3/14 Stalowy 4 Dobry |2 x YAKY 4x35 OCP |70 34
1/3/15 Stalowy 4 Dobry |2 x YAKY 4x35 OCP |70 34
2/1/1 Stalowy 7 Dobry |2 x YAKY 4x35 OZPR (70 34
2/1/2 WZ 7 Dobry 2 x YAKY 4x35 ous (70 34
2/1/2/1 WZ 7 Dobry YAKY 4x25 2x0US |70 34
2/1/2/3 WZ 7 Dobry YAKY 4x25 2x0US |70 34
2/1/2/6 W<Z 7 Dobry 2 x YAKY 4x35 ous 150 104
2/1/2/7 Stalowy Dobry |2 x YAKY 4x35 2 x OUS [150 104
2/1/3 WZ Dobry 2 x YAKY 4x35 ous (150 104

2 x YAKY 4x35 1x
2/1/4 Wz 7 Dobry YAKY 4x25 ous (150 104
2/1/4/1 Stalowy 7 Dobry |2 x YAKY 4x35 OZPR (70 34
2/1/4/2 Stalowy 7 Dobry |2 x YAKY 4x35 OCP |70 34
2/1/5 W<Z 7 Dobry 3 x YAKY 4x35 ous 150 104
2/1/5/1 Stalowy 7 Dobry |2 x YAKY 4x35 OCP |70 34
2/1/5/2 Stalowy 7 Dobry |1 x YAKY 4x35 OZPR (70 34
2/1/6 WZ 7 Dobry 2 x YAKY 4x35 ous (150 104
2/1/7 W<Z 7 Dobry 3 x YAKY 4x35 ous 150 104
2/1/7/1 Stalowy 7 Dobry |2 x YAKY 4x35 OCP |70 34
1 x YAKY 4x35 1 x

2/1/8 Wz 7 Dobry YAKY 4x25 ous (150 104
2/1/8/1 W<Z 7 Dobry 2 x YAKY 4x35 ous (250 150
2/1/8/2 WZ Dobry 2 x YAKY 4x35 ous (250 150
2/1/8/3 W<Z Dobry 1 x YAKY 4x35 ous (250 150
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2/1/9 Wz 7 Dobry 2 x YAKY 4x35 ous (150 104
2/1/10 W<Z 7 Dobry 2 x YAKY 4x35 ous 150 104
2 x YAKY 4x35+1 x
2/2/2 Stalowy 4 Sredni  |YKY 5x16 OCP |70 34
2/2/3 Stalowy 4 Dobry |2 x YAKY 4x35 OoCP |70 34
2/2/4 Stalowy 4 Dobry |2 x YAKY 4x35 OoCP |70 34
2/2/5/1 Stalowy Dobry |1 x YAKY 4x25 2x0uUs (70 34
2/2/7 Stalowy 4 Sredni |2 x YAKY 4x35 OCP |70 34
2/2/9 Stalowy 8 Dobry |2 x YKY 5x10 2 x0US |70 34
2/2/10 Stalowy 8 Dobry |2 x YKY 5x10 2 x0US |70 34
3/1/1 Stalowy 5 Dobry |3 x YAKY 4x35 OCP |70 34
2 x YAKY 4x35+1 x
3/1/1/3 Pastorat 4 Sredni  |YKY 5x16 OCP |70 34
3/1/4/1 Stalowy 5 Dobry |1 x YKY 3x6 2 x OUS [150 104
3/1/6 Stalowy 5 Dobry |2 x YAKY 4x35 OCP |70 34
3/1/8/1 Pastorat 5 Dobry |2 x YAKY 4x35 OCP |70 34
3/1/9/4 Stalowy 2 x YAKY 4x35 ocpP |70 34
3/1/10 Stalowy 4 Dobry |3 x YAKY 4x35 OCP |70 34
3/1/10/1 Stalowy 4 Dobry 3 x YAKY 4x35 ocpP |70 34
3/1/11 Stalowy 5 Dobry |2 x YAKY 4x35 OCP |70 34
3/1/12 Stalowy 4 Dobry |3 x YAKY 4x35 OCP |70 34
3/1/12/2 Stalowy 4 Dobry |1 x YAKY 4x35 OCP |70 34
3/1/13/1 Stalowy 5 Dobry 3 x YAKY 4x35 ocp |70 34
3/1/14 Stalowy 4 Dobry |1 x YKY 5x10 OCP |70 34
3/1/17/2 Stalowy 4 Dobry 1 x YAKY 4x35 ocpP |70 34
3/1/18/1 Stalowy 5 Dobry |1 x YAKY 4x35 OCP |70 34
3/1/18/2 Stalowy 5 Dobry 1 x YAKY 4x35 ocpP |70 34
3/2/1 Stalowy 4 Dobry |3 x YKY 5x10 OCP |70 34
1 x YAKY 4x35+1 x
3/2/2 Stalowy 4 Sredni  |YKY 5x10 OZPR |70 34
3/2/2/1 Stalowy 4 Dobry |2 x YAKY 4x35 OCP |70 34
3/2/3 Stalowy 4 Dobry |3 x YAKY 4x35 OCP |70 34
3/2/3/2 Stalowy 5 Dobry |2 x YAKY 4x35 OoCP |70 34
3/2/3/4 Stalowy 5 Dobry |1 x YAKY 4x35 OoCP |70 34
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3 x YAKY 4x35+1 x
3/2/5 Stalowy 5 Dobry |YKY 5x10 OoCP |70 34
3/2/8 Stalowy 4 Dobry |2 x YAKY 4x35 OCP |70 34
3/2/10/1 Stalowy 5 Dobry |1 x YAKY 4x16 OoCP |70 34
2 x YAKY 4x35 1 x
3/2/12 Stalowy 4 Dobry |YKY 5x10 OoCP |70 34
3/2/14 Stalowy 4 Dobry |1 x YAKY 4x25 OoCP |70 34
1 x YAKY 4x35+1 x
4/1/1 Stalowy 4 Sredni  |YKY 5x16 OoCP |70 34
4/1/2 Stalowy 4 Dobry |2 x YAKY 4x35 OoCP |70 34
4/1/3 Stalowy 4 Dobry |2 x YAKY 4x35 OoCP |70 34
2 x YAKY 4x35+1 x
4/1/4 Stalowy 4 Sredni  |YKY 5x16 OCP |70 34
4/1/5 Stalowy 4 Dobry |2 x YKY 5x16 OoCP |70 34
4/1/5/1 Stalowy 5 Dobry |2 x YKY 5x16 OCP |70 34
4/1/5/2 Stalowy 5 Dobry |2 x YKY 5x16 OCP |70 34
4/1/5/3 Stalowy 5 Dobry |2 x YKY 5x16 OCP |70 34
4/1/5/4 Stalowy 5 Dobry |1 x YKY 5x16 OCP |70 34
4/1/6 Stalowy 4 Dobry |2 x YAKY 4x35 OCP |70 34
4/1/11 Stalowy 4 Dobry |2 x YAKY 4x35 OCP |70 34
4/2/2/1 Stalowy 5 Dobry |2 x YAKY 4x35 OCP |70 34
2 x YAKY 4x35+ 1 x
4/2/2/3 Stalowy 4 Dobry |YKY 3x2,5 OCP |70 34
4/2/2/4 Stalowy 4 Dobry |2 x YAKY 4x35 OCP |70 34
4/2/2/5 Stalowy 5 Dobry |1 x YAKY 4x35 OCP |70 34
4/2/3 Stalowy 5 Dobry |3 x YAKY 4x35 OCP |70 34
4/2/5 Stalowy 5 Dobry |2 x YAKY 4x35 OoCP |70 34
4/2/6 Stalowy 5 Dobry |1 x YKY 5x10 OCP |70 34
1 x YAKY 4x351 x
5/1/7 Stalowy 5 Dobry  |YKY 5x25 Kula |70 34
5/1/8 Stalowy 5 Dobry |2 x YAKY 4x25 Kula |70 34
1 x YAKY 4x35+1 x
5/1/9 Stalowy 5 Dobry |YKY 5x6 Kula |70 34
5/4/2 Stalowy 5 Dobry |2 x YAKY 4x25 OCP |70 34
5/4/3 Pastorat 6 Dobry |2 x YAKY 4x25 Kula 150 104
5/4/3/1 Pastorat 6 Dobry |2 x YAKY 4x25 Kula ]150 104
5/4/3/2 WZ 6 Dobry 2 x YAKY 4x25 OUR |70 34
5/4/3/3 W<Z 6 Dobry 2 x YAKY 4x25 OUR |70 34
5/4/3/4 WZ 6 Dobry 2 x YAKY 4x25 ous (70 34
5/4/4 Pastorat 5 Dobry |1 x YAKY 4x25 Kula ]150 104
5/4/5 Pastorat 5 Dobry |2 x YAKY 4x25 Kula 150 104
5/4/6 Pastorat 5 Dobry |2 x YAKY 4x25 Kula ]150 104
5/4/7 Pastorat 5 Dobry |2 x YAKY 4x25 Kula 150 104
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5/4/8 Pastorat 5 Dobry |2 x YAKY 4x25 Kula 150 104
5/4/9 Pastorat 5 Dobry |2 x YAKY 4x25 Kula ]150 104
5/4/10 Pastorat 5 Dobry |2 x YAKY 4x25 Kula 150 104
5/4/11 Pastorat 6 Dobry |2 x YAKY 4x25 Kula ]150 104
6/1/2 Stalowy 5 Dobry |2 x YAKY 4x35 OoCP |70 34
6/1/4 Stalowy 5 Dobry |2 x YAKY 4x35 OoCP |70 34
6/2/2 Stalowy 5 Dobry |2 x YAKY 4x35 OoCP |70 34
6/2/5 Stalowy 5 Dobry |2 x YAKY 4x35 OoCP |70 34
6/2/7 /5 WZ 5 Dobry 2 x YAKY 4x35 ous (150 104
6/2/7 /6 W<Z 5 Dobry 2 x YAKY 4x35 ous (150 104
6/2/8 Stalowy 4 Dobry |2 x YAKY 4x25 OoCP |70 34
6/2/9 Stalowy 4 Dobry |2 x YAKY 4x25 OoCP |70 34
6/2/10 Stalowy 4 Dobry |1 x YAKY 4x25 OCP |70 34
7/1 Stalowy 5 Dobry |2 x YKY 3x4 MALAGA |70 34
7/1/1 Stalowy 5 Dobry |1 x YKY 3x4 ous (70 34
7/1/2 Stalowy 5 Dobry |2 x YKY 3x4 ous |70 34
7/1/3 Stalowy 4 Dobry |2 x YKY 3x4 ous (70 34
7/1/4 Stalowy 4 Dobry |3 x YKY 3x4 ous |70 34
7/1/5 Stalowy 4 Dobry |2 x YKY 3x4 ous (70 34
7/1/6 Stalowy 4 Dobry |2 x YKY 3x4 ous |70 34
7/1/7 Stalowy 5 Dobry |2 x YKY 3x4 ous (70 34
7/1/8 Stalowy 5 Dobry |2 x YKY 3x4 2 X 0US |70 34
7/1/9 Stalowy 5 Dobry |2 x YKY 3x4 ous (70 34
7/1/10 Stalowy Dobry |1 xYKY 3x4 ous |70 34
7/2 Stalowy 5 Dobry |2 x YKY 3x4 MALAGA |70 34
7/2/1 Stalowy 5 Dobry |2 x YKY 3x4 MALAGA |70 34
7/2/2 Stalowy 4 Dobry |2 x YKY 3x4 MALAGA |70 34
7/2/3 Stalowy 4 Dobry |2 x YKY 3x4 MALAGA |70 34
7/2/4 Stalowy 4 Dobry |1 x YKY 3x4 MALAGA |70 34
7/3 Stalowy 5 Sredni |3 x YKY 3x4 MALAGA |70 34
7/4 Stalowy 5 Dobry |2 x YKY 3x4 MALAGA |70 34
7/5 Stalowy 5 Dobry |1 x YKY 3x4 MALAGA |70 34
7/6 Stalowy 5 Dobry |1 x YKY 3x4 MALAGA |70 34
1 Pastorat Dobry |2 x YAKY 5x16 ROSA |70 34
2 Pastorat Dobry |2 x YAKY 5x16 ROSA (70 34
3 Pastorat Dobry |1 x YAKY 5x16 ROSA |70 34
4 Pastorat Dobry |1 x YAKY 5x16 ROSA (70 34
5 Pastorat Dobry |3 x YAKY 5x16 ROSA |70 34
6 Pastorat Dobry |3 x YAKY 5x16 ROSA (70 34
7 Pastorat Dobry |3 x YAKY 5x16 ROSA |70 34
8 Pastorat Dobry |2 x YAKY 5x16 ROSA (70 34
9 Pastorat Dobry |2 x YAKY 5x16 ROSA |70 34
10 Pastorat Dobry |2 x YAKY 5x16 ROSA (70 34
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11 Pastorat Dobry |2 x YAKY 5x16 2 x kula |70 34
12 Pastorat Dobry |2 x YAKY 5x16 3 x kula |70 34
13 Pastorat Dobry |2 x YAKY 5x16 3 x kula |70 34
14 Pastorat Dobry |1 x YAKY 5x16 3 x kula |70 34
15 Pastorat Dobry |2 x YAKY 5x16 ROSA (70 34
16 Pastorat Dobry |2 x YAKY 5x16 ROSA |70 34
17 Pastorat Dobry |2 x YAKY 5x16 ROSA (70 34
18 Pastorat Dobry |2 x YAKY 5x16 ROSA |70 34
19 Pastorat Dobry |2 x YAKY 5x16 ROSA (70 34
20 Pastorat Dobry |2 x YAKY 5x16 ROSA |70 34
20/1-2 Stupki LED Dobry |2xYDY3x2,5 70 34
20/3-4 Stupki LED Dobry 2xYDY 3x2,5 70 34
20/5-6 Stupki LED Dobry |2xYDY3x2,5 70 34
20/7-8 Stupki LED Dobry 2xYDY 3x2,5 70 34
20/9-10 Stupki LED Dobry |2xYDY3x2,5 70 34
9/1/1 Pastorat 5 Dobry |2 x YKY 5x10 Kula |70 34
9/1/2 Pastorat 5 Sredni |2 x YKY 5x10 Kula |70 34
2 x YKY 5x10+1 x
9/1/3 Pastorat 5 Dobry |YKY 5x6 Kula |70 34
9/1/4 Pastorat 5 Dobry |2 x YKY 5x10 Kula |70 34
9/1/5 Pastorat 5 Dobry |2 x YKY 5x10 Kula |70 34
9/1/6 Pastorat 5 Dobry |2 x YKY 5x10 Kula |70 34
9/1/7 Pastorat 4 Dobry |2 x YKY 5x10 Kula |70 34
9/1/8 Pastorat 4 Dobry |2 x YKY 5x10 Kula |70 34
9/1/9 Pastorat 4 Dobry |2 x YKY 5x10 Kula |70 34
9/1/10 Pastorat 4 Dobry |2 x YKY 5x10 Kula |70 34
9/1/11 Pastorat 4 Dobry |1 xYDY 3x2,5 Kula |70 34
2 x YKY 5x10+1 x
9/1/10/1 Pastorat Dobry |YKY 3x2,5 Kula |70 34
9/1/10 /2 Pastorat Dobry |2 xYDY 3x2,5 Kula |70 34
9/1/10/3 Pastorat Dobry |2 x YKY 5x10 Kula |70 34
9/1/12 Pastorat 5 Dobry |2 x YKY 5x10 Kula |70 34
9/1/13 Pastorat 5 Dobry |2 x YKY 5x10 Kula |70 34
9/1/14 Pastorat 5 Dobry |2 x YKY 5x10 Kula |70 34
9/1/15 Pastorat 5 Dobry |2 x YKY 5x10 Kula |70 34
2 x YAKY 4x35+1 x
10/1/1 Wz 8 Dobry YKY 5x16 2 x0US |100 60
10/1/2 Stalowy 8 Dobry |2 x YAKY 4x35 Oous [100 60
10/1/3 Stalowy 8 Dobry 2 x YAKY 4x35 ous |[100 60
10/1/4 Stalowy 8 Dobry |2 x YAKY 4x35 Oous [100 60
10/1/5 Stalowy 8 Dobry 2 x YAKY 4x35 ous [100 60
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10/1/6 Stalowy 5 Dobry 3 x YAKY 4x35 ous |[100 60
10/1/7 Stalowy 5 Dobry |2 x YAKY 4x35 Oous [100 60
10/1/8 Stalowy 8 Dobry 2 x YAKY 4x35 ous |[100 60
10/1/9 Stalowy 8 Dobry |1 x YAKY 4x35 Oous [100 60
10/1/10 Stalowy 8 Dobry 1 x YAKY 4x35 ous |[100 60
1 x YAKY 4x35+1 x
10/1/10/1 Stalowy 8 Dobry YKY 5x16 ous |[100 60
1 x YAKY 4x31 x
YKY 5x16+ AsXSn
10/1/10/2 Stalowy 8 Dobry |2x25 Oous [100 60
10/1/10/3 Stalowy 8 Dobry 2 x YAKY 4x35 ous |[100 60
10/1/10/4 ZN 8 Sredni  [AsXSn 2x25 OouUs [250 150
AsXSn 2x25+1 x
10/1/10/5 ZN 9 Sredni YKY 3x4 OuUsS |[250 150
10/1/10/6 Stalowy 9 Dobry 1 x YKY 3x4 ous |[100 60
10/1/10/7 ZN 9 Sredni  [AsXSn 2x25 OouUs [250 150
10/1/10/8 ZN 9 Sredni  |AsXSn 2x25 OouUs |250 150
1 x YAKY 4x35+1 x
10/1/11 Stalowy 8 Dobry YKY 5x16 ous |[100 60
2 x YAKY 4x35+1 x
10/1/12 Stalowy 8 Dobry YKY 5x16 ous |[100 60
10/1/13 Stalowy 6 Dobry |2 x YAKY 4x35 Oous [100 60
2 x YAKY 4x351+1
10/1/14 Stalowy 6 Dobry  [x YKY 5x16 Oous [100 60
10/1/14/1 Stalowy 6 Dobry 1 x YKY 5x16 ous |[100 60
10/1/15 Stalowy 8 Dobry |1 x YKY 5x16 2 x OUS [100 60
1 x YAKY 4x35+1 x
10/1/16 Stalowy 8 Dobry |YKY 5x16 Oous [100 60
10/1/5/2 Stalowy 5 Dobry ous (70 34
52R W<Z Dobry 1 x YKY 5x10+1 x
YAKXS 4x25 OUs 100 60
55R W<Z Dobry 1 x YAKXS 4x25 ous 100 60
24/1/1 Stalowy 4 Dobry |3 x YKY 5x10 OCP |70 34
24/1/2 Stalowy 5 Sredni |1 x YKY 5x10 OoCP |70 34
24/1/3 Stalowy 5 Sredni |1 x YKY 5x10 OCP |70 34
24/1/3/5 Stalowy 4 Sredni |2 x YKY 5x10 OCP |70 34
24/1/3/6 Stalowy 5 Dobry |3 x YKY 5x10 OCP |70 34
24/1/4 Stalowy 5 Dobry |1 x YKY 5x10 OoCP |70 34
24/1/4/1 Stalowy 5 Dobry |2 x YKY 5x10 OCP |70 34
24/1/4/2 Stalowy 5 Dobry |2 x YKY 5x10 OoCP |70 34
24/1/4/3 Stalowy 5 Dobry |2 x YKY 5x10 OCP |70 34
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24/1/4/4 Stalowy 5 Dobry |2 x YKY 5x10 OCP |70 34
24/1/4/5 Stalowy 4 Dobry |2 x YKY 5x10 OoCP |70 34
24/1/4/6 Stalowy 5 Dobry |2 x YKY 5x10 OCP |70 34
24/1/4/7 Stalowy 5 Dobry |1 x YKY 5x10 OoCP |70 34
24/1/5 Stalowy 5 Dobry |2 x YKY 5x10 OoCP |70 34
24/1/6 Stalowy 5 Dobry |2 x YKY 5x10 OoCP |70 34
24/1/6/1 Stalowy 4 Dobry |1 x YKY 5x10 OoCP |70 34
24/1/6/2 Stalowy 4 Dobry |1 x YKY 5x10 OoCP |70 34
24/1/7 Stalowy 5 Dobry |3 x YKY 5x10 OCP |70 34
24/1/8 Stalowy 4 Dobry |2 x YKY 5x10 OoCP |70 34
24/1/10 Stalowy 4 Dobry |2 x YKY 5x10 OoCP |70 34
24/1/11 Stalowy 4 Sredni |1 x YKY 5x10 OoCP |70 34
24/1/13 Stalowy 4 Dobry |2 x YKY 5x10 2x0uUs (70 34
24/1/13/1 Stalowy 5 Dobry |1 x YKY 5x10 3x0US (70 34
24/1/14 Stalowy 8 Dobry |1 x YKY 5x10 3 x0uUs (70 34
24/1/1/1 Stalowy 8 Dobry |3 x YKY 5x10 3 x0US (150 104
24/2/2 Stalowy Dobry |3 x YKY 5x10 OCP |70 34
24/2/3 Stalowy Dobry |2 x YKY 5x10 OCP |70 34
24/2/4 Stalowy Dobry |3 x YKY 5x10 OCP |70 34
24/2/5 Stalowy Dobry |4 x YKY 5x10 OCP |70 34
24/2/5/2 Stalowy Dobry |2 x YKY 5x10 OCP |70 34
24/2/6/1 Stalowy Dobry |2 x YKY 5x10 OCP |70 34
24/2/6/2 Stalowy Dobry |1 x YKY 5x10 OCP |70 34
12/1/3 Stalowy 4 Dobry |3 x YAKY 4x35 OCP |70 34
12/1/3/1 Stalowy 4 Dobry 3 x YAKY 4x35 ocp |70 34
12/1/3/2 Stalowy 4 Dobry |2 x YAKY 4x35 OCP |70 34
12/1/3/3 Stalowy 4 Dobry 3 x YAKY 4x35 ocpP |70 34
12/1/3/5 Pastorat 4 Dobry |1 x YAKY 4x35 OCP |70 34
12/1/3/7 Stalowy 4 Dobry 1 x YAKY 4x35 ocp |70 34
12/1/3/8 Stalowy 4 Dobry |3 x YAKY 4x35 OCP |70 34
12/1/3/9 Stalowy 6 Dobry 3 x YAKY 4x35 ocpP |70 34
12/1/3/10 Stalowy 6 Dobry |2 x YAKY 4x35 OCP |70 34
12/1/3/11 Stalowy 6 Dobry 1 x YAKY 4x35 ocpP |70 34
12/1/3/12 Stalowy 8 Dobry |2 x YAKY 4x35 2 x0US |70 34
12/1/3/13 Stalowy 4 Dobry 2 x YAKY 4x35 ocpP |70 34
12/1/3/15 Stalowy 4 Dobry |2 x YAKY 4x35 + OCP |70 34
A Stalowy 7 Dobry 1 x YAKY 4x16 2x0uUs |70 34
12/1/3/16 Stalowy 4 Dobry 2 x YAKY 4x35 ocpP |70 34
12/1/3/17 Stalowy 4 Dobry |2 x YAKY 4x35 OoCP |70 34
12/1/3/18 Stalowy 4 Dobry 3 x YAKY 4x35 ocp |70 34
12/1/3/19 Stalowy 5 Dobry |1 x YAKY 4x35 OCP |70 34
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12/1/3/20 Stalowy 5 Dobry 1 x YAKY 4x35 ocCP 70 34
12/1/3/21 Stalowy 5 Dobry |3 x YAKY 4x35 OoCP |70 34
12/1/3/22 Stalowy 4 Dobry 2 x YAKY 4x35 ocCP 70 34
12/1/3/23 Stalowy 3 Dobry |2 x YAKY 4x35 OoCP |70 34
12/1/3/24 Stalowy 4 Dobry |2 x YAKY 4x35 Kula |70 34
12/1/3/25 Stalowy 4 Dobry |2 x YAKY 4x35 Kula |70 34
12/1/3/26 Stalowy 4 Dobry |1 x YAKY 4x35 Kula |70 34
12/1/3/27 Stalowy 5 Dobry |3 x YAKY 4x35 OoCP |70 34
12/1/3/28 Stalowy 4 Dobry 1 x YAKY 4x35 ocCP 70 34
12/1/3/29 Stalowy 4 Dobry |1 x YAKY 4x35 OoCP |70 34
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